A simplified action map. Minor issues are omitted.

Action 1: Salespeople and agents
need to decide if the potential
customer belongs to the target
audience for the new product

Barrier: There are no clear
O criteria to identify if a customer g®
belongs to the target audience

The goal: Sell 20k
insurance policies of

new product in year 1

Action 2: Agents need to present Barrier: Agents, in particular, are
the new product to the target ~ afraid of losing the customer to the
audience and explain product mobile application if they present
benefits, incl. a mobile application the new product




